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PacifiCorp uses what appears to be a logical setitafria to screen and arrive at its sample of
utilities. This set of criteria are similar to 8®used in previous rate cases. Namely, all &aditities,
(1) with a single-A or higher bond rating, (2) thave electric revenues at least 75 percent of tota
revenues, and (3) for which complete and reliabka dre available. While these criteria seem
reasonable, preliminary results indicate a lackasfelation with the estimated ROEs coming from the
DCF models.

A sample of fifty-six utilities was taken from VaiLine reports. For these utilities ROE
estimates were calculated using the constant grb@f model. The price and dividends are from
Value Line while the growth rate is an earningsigtoweight from Zacks’ web site. Moody’s bond
ratings and the percent of income from electricrapens were obtain from “C. A. Turner, Utility
Reports,” information obtained in response to DPaleDRequest 3.9.

The Null hypothesis is that the correlation betwtenvariables is zero. If the selection criteria
are an indication of risk, we would expect to rejies hypothesis in favor of the alternative ttied
variables are significantly correlated. Specifizal

Hyp=0 H:p=0
wherep is the correlation coefficient.

Table 1: Correlation Results

Correlation with the Estimated ROE

Income Bond Rating

n 56 56
Correlation -0.23 -0.17
t-stat -1.76 -1.30
Critical Value 2.00 2.00
p-Value 0.08 0.20

The correlation between the estimated ROEs andrniade -0.23. The tests statistic for this
correlation is -1.76 which has a p-value of 0.08e p-value indicates that we would fail to reject

null hypothesis for significance levels as gread aercent.
To calculate a correlation between the bond raaimdjthe ROES, | assigned numbers to Moody’s
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letter rating, ranging from 1 to 5.67. The resgtcorrelation coefficient is -0.17. The t-statistnd p-
value for this correlation are -1.3 and 0.20 retipely. Given this large of a p-value indicateatthve
would fail to reject the Null hypothesis for allrogentional significant levels (1 to 10 percent).



